4. Given the following data on gasoline supply and demand,
(a) What is the equilibrium price?
(b) How large a market shortage would exist if government set a price ceiling of $2 per gallon?

Price per gallon $5.00 $4.00 $3.00 $2.00 $1.00 $5.00 $4.00 $3.00 $2.00 $1.00
Quantity demanded (gallons per day) Quantity supplied (gallons per day)

Al 1 2 3 4 5 Firm A 3 3 2 2 1
Betsy 0 1 1 1 2 Firm B 7 5 3 3 2
Casey 2 2 3 3 - Firm C 6 - 3 3 1
Daisy 1 3 4 4 6 Firm D 6 5 3 2 0
Ecldie 12 2 3 5  FmE 4 2 2 2 1
Market total o Market total

6. Illustrate what’s happening to oil prices in the World View on page 63.

Oil Market

(a) Which direction did the demand curve shift
(left or right)?

() Which direction did the supply curve shift
(left or right)?

(c) Did price (A) increase or (B) decrease?

PRICE (per barrel)

QUANTITY (barrels per day)



ASupply Shift. Figure 376 illusirates a sapply shift. The decrease (Jefward shiftyin sup-
ply might occurifsome on-campus-webheads ol sick »Or approaching exams michl con-
vinee wonld=be tutors that they haveno time oespare - Whenever Supply decreases (shifts
Left), price tends e rise, asin Fizure 375,

The rock band U2 leamed about changinge equilibrivnes the bard way. Ticket prices for the
band’s 0492 qour-were below equilibrinm; ereating a marke! shomaesr S00U2 raised prces
10 as-much a5 532,50 a ticket fortheir 1997 tour-—neary donble the 1992 price. By then;
however, demand had shified tothe left due o a lack of U2 hits and an increased nambes of
competing conceris. By the timethey poltother second city theywere playing in stadiwms
with-ots-of emply_scats: The apparent ket surpluse led Critics-to label-the ([[997 “Pop
Man™ touradisaster, For thein 2004 “Elevation Tour!” W2 offered “festival seating™ for only
%3510 order to il stadinms and confen halls” Demand shified again.in 2005 Buoyed by a
spike of_new "hit_songs fe.o ) “Heastiful Pav’y, demand for 11275 Wertioo Toor™ far ot
siri pped-available supply, sending ticket prices soarng (and scalpers celebrating). Thisisthe
kind -0f trial-and-error- process-that-ultimatel y-establishes an-eguilibriom price. For their
oneoing 3a0-decree world tou, U2 cut prices arain to assure filling even more concert seats.

Commodity prices are much fasterto adjust than ace rock bands. Inthe world odl macket,
forexample, prces changedaily asvarious forces shiftmarket demand and supply curves)
In early-201 -an increase (fghiward shift) in-marked demand, togeiher-with a decrease
{leftward shifty in markel supply, pushed up the equilibrium prices of oil and casoline, a5
the accompanying World Yiew repords.

WORLD VIEW

Gas Prices High—and Might Get Higher

MEW YORK (CMMMoney)—Strong worldwide oil de-
miared and lack of supply are to blame for steadily rising
gasoline prices in the United States, an oil industry
group said Friday. . . .

Felmy said worldwide cil demand in 2010 hit a record
of more than 87 million barrels a day, driven largely by
strong growth in india, China, and the Middle East.

Supply, meanwhile, was constricted by the drilling
micratorium in the Gulf of Mexico following the BP disaster, slow production growth in non-
OPEC countries, and OPEC production controls. . . .

Over the last year, prices are up 39 cents a gallon or 14 percent. Crude oil is up by a similar
percentage, currently trading at just under $90 a barrel.

—5teve Harpreaves

Sowrce: CNNMoney.com. Janmary 21, 20011, & 2011 Time Inc. Usad under license.

Analysis: Equilibrium prices change whenever market demand or supply curves shift. In this
case, both curves are shifting, and the equilibrium price is rising.




11. Use the following data to draw supply and demand curves on the accompanying graph.

Price i8 7 6 5 4 3 2
Quantity demanded 2 3 4 5 [ 7 8
Quantity supplied 10 9 8 7 [ 5 4
(@) What 1s the equilibrium price?
(b) If a minimum price (price floor) of 36 is set,
() What kind of disequilibrium situation results?
(1) How large 1s 1t?
(c) If a maximum price (price ceiling) of $3 is set,
(i) What disequilibrium situation results?
(ii) How large is it?
Illustrate these answers.
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